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Part 2: Will NFs dissolve in BCI3? Explain your reasoning.
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Part 3: Name/write the formula of each compound. D] m\ow“v

1. Calcium acetate
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Part 4: Solve. Show all work. Round for significant figures and box final answers.
5. How manﬂmoles \are in 457 grams of Cry(S04)3? Z (C r) 4+ 3(5} + \Z (0)
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6. How man\@icle%are in 2.31 grams of Na,O?
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Part 3: Name/write the formula of each compound.

1. Calcium acetate 3. I

2. S30s 4. lron (lll) oxide

Part 4: Solve. Show all work. Round for significant figures and box final answers.

5. How many moles are in 457 grams of Cry(S0a)3? :
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6. How many particles are in 2.31 grams of Na,O? F 7
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